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2020
GEOGRAPHY
[HONOURS]
Paper : VI
(Economic and Social Geography)
Full Marks : 100 Time : 4 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give the answers in their
own words as far as practicable.
SECTION-A
(Short Answer Type)

1. Answer eight questions in all, selecting at least
one but not more than two from each Unit:
2x8=16

gfsls Relal (A T @Ffs ¢ FHeor ¥t F@
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UNIT-1
(Resource)

i)  Define resource according to 1992 Earth

Summit Resolution.

SO5-(S TIE DI I SR AW
AR I |
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iif)

Vi)

vii)
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Why are fossil fuels considered as fund

resources?
el AfNEE T A 6 T (2

What is meant by dynamic nature of

resource?

Ao ARSI @Ffe e & @2

UNIT-1I

(Economic Activity)
Name the member states of European Union.
IR e e Agel [ e
What is isotim?
e e
What is Social Forestry?
AIERE Jepye 52

UNIT-111
(Society & Culture)
What is Social Status?

e il FE A0 2
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viil) What are the indicators of social well-being?

AfEE G eeTela fefireafe & e

iX)

X1)

xii)

xiii)

Xiv)
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What is Cultural Diffusion?

Alcgfos o @ce F @RI

UNIT-1V

(Settlement)
Define Urban Morphology.
2 TR 19 FIF T2
What is Hamlet?
D e
What is 'Rurban'?
'Rurban’ T#1(e 1 (@RI?

UNIT-V
(Population)
What is Population Projection?
GRS SferFe IE e 2
What is optimum population?

I e e
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xv) What is Fertility Rate?

TEIO T IS AT 2

SECTION-B
(Short Analytical Type)

Answer six questions in all. Question No.2 is

compulsory. Answer five other questions, selecting one

from each Unit:

6x6=36

TG 2H/ Aed Ted e | & R X SRR «riels afels
e (I @ @ R oW Hiple a4 Ted wie ¢

2.

Discuss the problems and solution of tea plantation

in the north-eastern part of India. Name two countries

of the world where the scarcity of water is high.
5+1

OICT GEH-5 M BI-RICEs IO G AN A2 (E
A FC1 | ST 9 (e TN IR @ SeTH6
4 ¥ |

OR/=at

Write a short note on rain water harvesting. What do
you mean by quaternary economic activity?
4+2

I Tt AT Tt G Bi (1% | 5o R Sl
IR TeICe & @RI2
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UNIT-1
(Resource)

Briefly discuss the factors of resource creation.
What are major sources of nuclear energy?
4+2

T R PIFPRIR FLCHFCH S S| A fs
wfeq Toraf 5 /2

What are the reasons for the declining importance
of coal? What do you mean by geothermal energy?
4+2

TR @Y PO IRl [ e g-oidw e @i
& e

UNIT-II
(Economic Activity)

What are the differences between mixed farming

and plantation agriculture? What are the major

industries of Mumbai-Pune Industrial Region?
4+2

= i ¢ Afeifers $le ey oI 52 J7R-~e Feeer
Ay el & e

Briefly make an assessment of the function of
SAARC. 6

<ol SAARC-9F FRTEN TR el |
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10.

UNIT-III
(Society & Culture)

Briefly discuss the nature of social geography.

ATEE SLANER 8P ACHC! B Al |

Establish the relationship between ethnicity and
culture with examples. What are the basis to identify
cultural realms? 4+2

TuizaepTz. wifesrgl R Agfox My ToRE e |
Aicgfos eoie JImieE Dizesarr fofeely & 52

UNIT-1V
(Settlement)

Discuss the Hoyt's model of urban morphology.
What is 'Urban village'? 5+1

TG T6ANT PO A AeeAvl Fet | 'Urban
village' F&T0e & (@RI 2

Discuss the types of rural settlements with suitable
examples from India. What is a Census town?
4+2

TS A PG dFA TATE THIZIAZ. SCEIB)
¢4l | Census town FIF (e ?
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11.

12.

13.
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UNIT-V
(Population)

What are the major determinants of population

structure? Define emigration. 4+2

TP IR gl FefireelsE e seesiEia-ag
HLGR] VIS |

Discuss the basic features of population policy of
China. What is Neo-natal death rate? 4+2

Bie &Pyl difen JE @l F F2 Neo-natal
Jorge 2

SECTION-C

(Broad Answer Type)
Select four questions in all out of five Units,
selecting one from each Unit. 12x4=48
fwa Siofs TEMG (A SMikT @36 T ol 5I I
@G R arsie Ted mie
UNIT-I
(Resource)

a) Discuss in detail the environmental approach
of resource utilisation. What is Agenda 21?
10+2

T RRICER ARIEHeTe yioen [Reifie SEs
3@ | Agenda 21 52

[Turn over]

b)

d)
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"Oceans are the storehouse of wvaried
resources"— Explain it. What is geo-thermal

energy? 10+2

‘R [fey @R TR /e eTeRT—
SIEA S S-SR *fe T A2

UNIT-II
(Economic Activity)

'Economic activities are location specific'
— Explain the statement. What is WTO?
10+2

o o 0

Tlafer IR TERfsies — RYfeld
ScEADA Fe | WTO e

Discuss the major industries and the
favourable factors in the development of
those industries in the Great Lake Region of
the U.S.A. What are the major industries
concentrated in the Asansol-Durgapur
Region? 10+2

SIGIRIE 2 T SRR 2l 2die Ry aR @
fEafe ore el aue FRael I e
SPTECIE-ofoE iEreeea e g Meafem
T G
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g)

h)
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UNIT-III
(Society & Culture)

Describe the subject matter of Social
Geography. What do you mean by social
segregation? 10+2

Afes g g 3G Sl A
AT @IS [ @RI

Divide the world in cultural realms and give
a detailed account of any one of them. What

is meant by convergence of culture? 10+2

R Micglios wee Reifte s @ @3
fawifee f@@el wie | Convergence of culture
©le & @R

UNIT-1V
(Settlement)

What do you mean by 'Primate City'? Discuss
it's characteristics. What is meant by 'Urban
Sprawl'? 2+8+2=12

'Primate City' Fe & @RI? a7 @Sl
@t | 'Urban Sprawl' o1t & @Rt

What is the significance of the term 'rurban'?
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i)
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Classify towns according to their functions

and explain their characteristics. 2+10

QR *albg Fees! wie | SRR fSfere sz
NS T 9 eI @G SIETv S

UNIT-V
(Population)

What is carrying capacity? Discuss
Ravenstein's "Law of Migration' in detail.
2+10

35 Fel [F2 AreoiREe AfEeEs Suee
feife S &l

Discuss the major reasons for the high rate
of population growth in the developing
countries. What is Demographic Transition
Model? 10+2

Tyl oiefere weritd Tkt 3faa
Fdefer  oNeeTsal 0311 Demographic
Transition Model 5t & (@Ri?
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